


 



 



Objective Paper

1. ,d AC ifjiFk ds fxnZ oksYVrk rjax V = V
m
sin(t – 15°)

oksYV yxkbZ xbZ gSA ;fn /kkjk] oksYVrk ds 10° vxz gS vkSj /kkjk

dk vfèkdre eku I
m
gS] rks /kkjk dk lehdj.k gS

(a) mi I sin( t 5 )amps   

(b) mi I sin( t 25 )amps   

(c) mi I sin( t 25 )amps   

(d) mi I sin( t 5 )amps   

2. f'k[kj eku (I
m
) okyh fdlh T;koØh; rjax dh /kkjk dk vkSlr

eku (I
av

) gS

(a) m
av

I
I

2
 (b) av mI I

2




(c) av m

2
I I


(d)

m
av

I
I

2


3. fdlh dq.Myh esa izsfjr fo-ok- cy (emf) feyrk gS
d

e N
dt


  ls]

tgk¡ e gS izsfjr fo-ok- cy (emf), N gS orZukas dh la[;k vkSj d

gS dky dtesa dq.Myh ds lkFk rkRdkfyd ¶yDl xzafFkrk O;atd esa

_.k fpg~u gS

(a) gal fØf'p;u vksLVsZM ds dkj.k

(b) vkUnzs ekjh ,sfEi;j ds dkj.k

(c) ekbdy QSjkMs ds dkj.k

(d) ,fey ysUt ds dkj.k

4. 3 gsujh vkSj 12 gsujh Lor% izsjdRo vkSj ;qXeu xq.kkad 0.85 okyh

nks dq.Mfy;ksa ds chp ikjLifjd izsjdRo gS

(a) 12.75 gsujh (b) 5.1 gsujh

(c) 0.425 gsujh (d) 1.7 gsujh

5. 20°C ij dkWij dk izfrjks/k rki xq.kkad gS

(a) 0.0045/°C (b) 0.0017/°C

(c) 03.00393/°C (d) 0.0038/°C

1. The voltage wave v = V
m
 sin (t – 15°) volts is

applied across an AC circuit. If the current leads

the voltage by 10° and the maximum value of

currents is I
m
, then the equation of current is

(a) i = I
m
 sin (t + 5°) amps

(b) i = I
m
 sin (t – 25°) amps

(c) i = I
m
 sin (t + 25°) amps

(d) i = I
m
 sin (t – 5°) amps

2. The average value of current (I
av

) of a sinusoidal

wave of peak value (I
m
) is

(a) m
av

I
I

2
 (b) av mI I

2




(c) av m

2
I I


(d)

m
av

I
I

2


3. The emf induced in a coil is given by e = – N
2

dt



where e is the emf imduced, N is the number of

turns and d is the instantaneous flux linkage with

the coil in time dt

(a) Hans christain Oersted

(b) Andre-Marie Ampere

(c) Mechale Faraday

(d) Emil Lenz

4. The mutual inductance between two coils having

self inductances 3 henry and 12 henry and coupling

coefficeient 0.85 is

(a) 12.75 henry (b) 5.1 henry

(c) 0.425 henry (d) 1.7 henry

5. Resistance temperature coefficient of copper at

20°C is

(a) 0.0045/°C (b) 0.0017/°C

(c) 0.00393/°C (d) 0.0038/°C
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6. DC ik'oZ iFk tfu= dk Hkkj vfHky{k.k r; fd;k tkrk gS

(a) vkesZpj izfrjks/k esa oksYVrk ikr }kjk

(b) vkesZpj izfrfØ;k ds dkj.k oksYVrk ikr] ?kVh gqbZ {ks= /kkjk

ds dkj.k oksYVrk ikr vkSj vkesZpj izfrjks/k esa oksYVrk ikV

}kjk

(c) vkesZpj izfrfØ;k ds dkj.k oksYVrk ikr vkSj vkesZpj

izfrjksèk eas oksYVrk ikr }kjk

(d) vkesZpj izfrfØ;k ds dkj.k oksYVrk ikr] ?kVh gqbZ {ks= /kkjk

ds dkj.k oksYVrk ikr] vkesZpj izfrjks/k rFkk {ks= izfrjks/k esa

oksYVrk ikr }kjk

7. 5 ?kaVs rd 2 hp ¼fczfV'k½ fodflr dj jgh eksVj }kjk fdrus oksV

lsd.M dh iwfrZ dh tkrh gS

(a) 2.6856 × 107 okV&lsd.M

(b) 4.476 × 105 okV&lsd.M

(c) 2.646 × 107 okV&lsd.M

(d) 6.3943 × 106 okV&lsd.M

8. ,d 4-/kzqo tujsVj 1200 rpm ij py jgk gSA mldh dq.Mfy;ksa

eas tfur fo-ok- cy (emf) dh vko`fÙk rFkk dky vof/k gS

Øe'k%

(a) 50 Hz, 0.02 sec

(b) 40 Hz, 0.025 sec

(c) 300 Hz, 0.00333 sec

(d)
1

2400Hz, sec
2400

9. ,d dyh; izsj.k eksVj (IM), ftlesa vidsUnzh; fLop ugha gS] gksrh

gS

(a) la/kkfj= izofrZr ,dy dyk IM

(b) izfrjks/k fofoä ,dy dyk IM

(c) la/kkfj= izofrZr la/kkfj= pkfyr ,dy dyk IM

(d) LFkk;h la/kkfj= pkfyr ,dy dyk IM

10. tc fdlh orZeku oksYVekih dk ifjlj c<+kus ds fy, mlesa ,d

xq.kd tksM+k tk,] rks mldk fo|qr pqEcdh; voeanu

(a) vizHkkfor jgrk gS

(b) c<+rk gS

(c) ?kVrk gS

(d) fu;a=d cy&vk?kw.kZ ds vk/kkj ij dqN ifjofrZr gksrk gS

6. The load characteristic of DC shunt generator is

determined by

(a) the voltage drop in armature resistance

(b) the voltage drop due to armature reaction,

voltage drop due to decreased field current

and voltage drop in armature resistance

(c) the voltage drop to armature reaction and

voltage drop in armature resistance

(d) the voltage drop due to armature reaction,

voltage drop due to decreased field current and

voltage drops in armature and field resistance

7. How many watt-seconds are supplied by a motor

developing 2 hp (British) for 5 hours

(a) 2.6856 × 107 watt-seconds

(b) 4.476 × 105 watt-seconds

(c) 2.646 × 107 watt-seconds

(d) 6.3943 × 106 watt-seconds

8. A 4-pole generator is running at 1200 rpm. The

frequency and time period of the emf generated in

its coils respectively

(a) 50 Hz, 0.02 sec

(b) 40 Hz, 0.025 sec

(c) 300 Hz, 0.00333 sec

(d) 2400 Hz,
1

sec
2400

9. The single phase Induction Motor (IM) which does

not have centrifugal switch is

(a) capacitor start single phase IM

(b) resistance split single phase IM

(c) capacitor start capacitor run single phase IM

(d) permanent capacitor run single phase IM

10. When a multiplier is added to an existing voltmeter

for extending its range, its electromagnetic damping

(a) remains unaffected

(b) increases

(c) decreases

(d) changes by an amount depending on the

controlling torque
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11. fp= esa Hkkj oksYVrk (V), nkc dq.Myh eas /kkjk (I
p
) vkSj /kkjk

dq.Myh eas /kkjk (I
C
) dk Qstj vkjs[k fn[kk;k x;k gS] tc 'kfä

dks ekius ds fy, fo|qr&xfrdh okVekih dk iz;ksx fd;k tk,A

okVekih dk ikB~;kad fdlds lekuqikrh gksxk

 V

IP

IC

(a) cos( )   (b) cos

(c) cos cos  (d) cos cos( )   

12. foijhr fn'kkvkas eas /kkjk ys tk jgs nks ik'oZ pkyd ,d&nwljs ij

Mkysaxs

(a) vkd"kZ.k cy

(b) izfrd"khZ cy

(c) v{kh; cy

(d) dksbZ cy ugha

13. pqEcdh; ifjiFk ds izfr"VEHk dh bdkbZ gS

(a) AT/m

(b) Weber/m

(c) AT/Weber

(d) Weber/AT

14. lwpd ;a=ksa eas fLiazxksa dk iz;ksx fd;k tkkr gS eq[;r%

(a) /kkjk dks dq.Mfy;kas rd ys tkus ds fy,

(b) dhyd dh ;FkkfLFkfr cuk, j[kus ds fy,

(c) ladsrd xfr ds fu;a=.k ds fy,

(d) ladsrd ds dEiu dks de djus ds fy,

15. ,d larqfyr 3-dyk] 3-rkj vkiwfrZ larqfyr rkjk caf/kr

izfrjks/kdksa dks Hkj.k djrh gSA ;fn ,d izfrjks/kd dks fo;ksftr dj

fn;k tk,] rks Hkkj esa izfr'kr deh gksxh

(a) 33.33 (b) 50

(c) 66.67 (d) 75

11. Phasor diagram of load voltage (V), current in

pressure coil (I
p
) and current in current coil (I

C
) is

shown in the figure when an electrodynamic

wattmeter is used to measure power. The reading

of the wattmeter will be proportional to

 V

IP

IC

(a) cos( )   (b) cos

(c) cos cos  (d) cos cos( )   

12. Two parallel conductors carrying current in

opposite directions will exert on each other

(a) an attractive forces

(b) a repulsive force

(c) an axial force

(d) no force

13. The unit of reluctance of magnetic circuit is

(a) AT/m

(b) Weber/m

(c) AT/Weber

(d) Weber/AT

14. In indicating instruments the springs are mainly used

to

(a) conduct the current to the coils

(b) hold the pivot in position

(c) control the pointer movement

(d) reduce the vibration of the pointer

15. A balanced 3-phase, 3-wire supply feeds balanced

star connected resistors. If one of the resistors is

disconnected, then the percentage reduction in load

will be

(a) 33.33 (b) 50

(c) 66.67 (d) 75
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16. ,d yEcs LFkk;h naM pqEcd ds fljs ij dqy ¶yDl 100 × 10–

6 Wb gSA bl pqEcd dk fljk ,d 1000 vkorZ dq.Myh eas ls 1/

20 lsd.M eas [khapk x;kA dq.Myh esa izsfjr fo-ok- cy (emf) gS

(a) 20.0 V (b) 2.0 V

(c) 0.2 V (d) 0.02 V

17. fp= ds lanHkZ esa] oksYVrk rjax :i v(t) dk eki ,d PMMC,

fczt fn"Vdkjh ds lkFk lfEefyr ,d PMMC vkSj ,d xfr'khy

ykSg (MI) eki;a= }kjk fy;k x;kA mlds ckn nks lwfp;k¡ rS;kj

dh xbZ

v(t)

10

0 4ms

16ms

t

lwph&I lwph&II

¼eki;a= lwph½ ¼eki;a= ds ikB~;kad dh lwph½

a. PMMC i. 5V

b. PMMC rectifier ii. 2.75V

c. M.I. iii. 2.5V

eki;a=ksa vkSj muds ikB~;kad ls lEcfU/kr lgh fodYi gS

(a) a-i, b-ii, c-iii (b) a-iii, b-ii, c-i

(c) a-ii, b-iii, c-i (d) a-iii, b-i, c-ii

18. fn[kk;k x;k fLop VªkaftLVj] laxzkgh fn'kk esa 8 mA dh ,d rms

/kkjk ogu djrk gSA ;fn vk;rkdkj Lian Ükà[kyk V
1
dh vko`fÙk

50 Hz gS] rks VªkaftLVj dk pkyw&le; (on-time) gS

500

+10V

V  = 5VCEVi

(a) 20 ms (b) 6.4 ms

(c) 12.8 ms (d) 16 ms

16. The total flux at the end of a long permanent bar

magnet is 100× 10–6 Wb. The end of this magnet is

withdrawn through a 1000 turn coil in 1/20 seconds.

The induced e.m.f. in the coil is

(a) 20.0 V (b) 2.0 V

(c) 0.2 V (d) 0.02 V

17. In reference to the figure, the voltage waveform

v(t) is measured by a PMMC, a PMMC combined

with bridge rectifier and a moving iron (MI)

instrument. Two lists are prepared thereafter

v(t)

10

0 4ms

16ms

t

List-I List-II

(Instrument List) (List of Instrument reading)

a. PMMC i. 5V

b. PMMC rectifier ii. 2.75

c. M.I iii. 2.5 V

The correct option relation the instruments and their

reading is

(a) a-i, b-ii, c-iii (b) a-iii, b-ii, c-i

(c) a-ii, b-iii, c-i (d) a-iii, b-i, c-ii

18. The switching transistor as shown, carries in the

colletor side an rms current of 8 mA. If the

frequency of rectangular pulse train V
i
 is 50 Hz,

then on-time of the transistor is

500

+10V

V  = 5VCEVi

(a) 20 ms (b) 6.4 ms

(c) 12.8 ms (d) 16 ms
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19. izfrjks/k R
m
okyk ,d ,sehVj fp= eas fn[kkbZ xbZ O;oLFkk ds

vuqlkj j[kk x;k gSA R
m
, R

sh
dk inkFkZ dkWij gS vkSj R

s
, R

x

dk easxfuu gSA rki ds izfr ekih dh fu"ikndrk dh {kfriwfrZ djus

ds fy, 'krZ gS

A

Rm Rs

Rsh Rx

(a)
m sh s x

1 1 1 1

R R R R
  

(b) m s sh xR R R R

(c) m s sh xR R R R  

(d)
shm

s x

RR

R R


20. ;fn iw.kZ&eki ifjlj 0-200 V vkSj Hkhrjh izfrjks/k 10 kokys

,d PMMC oksYVekih ds fxnZ 100V, 50 Hz ykxw fd;k tk,] rks

oksYVekih ij ikB~;kad gksxk

(a) 0V (b) 110 2V

(c) 78V (d) 55V

21. izsj.k izdkj ds fdlh midj.k eas pkyu cy&vk?kw.kZ dks vf/kdre

djus ds fy,] ik'oZ dq.Myh rFkk Js.kh dq.Myh }kjk cuk;k x;k

¶yDl gksuk pkfg,

(a) ,d&nwljs ds lkFk dyk esa

(b) ,d&nwljs ds lkFk ledksf.kd fLFkfr esa

(c) ijLij 45° ij foLFkkfir

(d) ijLij fHkUu dyk esa

22. pkyd rkj (lead) rFkk laidZ izfrjks/kkas ds dkj.k =qfV;ksa dks

U;wure djus ds fy,] oS|qr ekiu dk;Z esa iz;qDr U;wu izfrjks/kkas esa

yxk, tkrs gS
(a) j{kh oy; (b) pkj VfeZuy
(c) eksVs fo|qrjks/ku (d) /kkrq ds ifjj{kd

19. A ammeter of resistance R
m
 is placed an arrangement

as shown in the figure. Material of R
m
, R

sh
 is copper

whereas that of R
s
, R

x
 is manganin. The condition

for which the meter performance is compensated

against temperature, is

A

Rm Rs

Rsh Rx

(a)
m sh s x

1 1 1 1

R R R R
  

(b) m s sh xR R R R

(c) m s sh xR R R R  

(d)
shm

s s

RR

R R


20. If a 110 V, 50 Hz is applied across a PMMC

voltmeter of full-scale range 0-220 V and internal
resistance of 10k, reading of the voltmeter will

be

(a) 0 V (b) 110 2 V

(c) 78V (d) 55V

21. To maximize the driving torque in an induction type

instrument, flux produced by shunt coil and series

coil should be

(a) in phase with each

(b) in quadrature with each other

(c) displaced by 45° with respect to each other

(d) out of phase with respect to each other

22. To minimize the errors due to lead and contact

resistances, low resistances used in electrical

measurement work are provide with

(a) guard rings (b) four terminals

(c) thick insulation (d) metal shields
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23. dFkuksa 'A' vkSj 'R' dh tk¡p dhft, vkSj viuk mÙkj pqfu,A

dFku (A) : ?kj eas fdlh nhi dks fLop djus ls jsfM;ksa eas 'kksj

gksrk gSA

dFku (R) : fLopu fØ;k i`FkDdkjh laidks ± ds fxnZ vkdZ

cukrh gSA

(a) A rFkk R nksuks a lgha gS vkSj R, A dk mfpr Li"Vhdj.k

gS

(b) A rFkk R nksuksa lgha gS vkSj R, A dk mfpr Li"Vhdj.k

ugha gS

(c) A lgh gS fdUrq R feF;k gS

(d) A feF;k gS fdUrq R lgh gS

24. mPp oksYVrk dsfcy esa ok;q dh y?kq dksfVfjdk,¡ ¼ikWfdVsa½

__________ vki s f{kd pqEcd'khyrk __________

fo|qr&{ks= miyC/k djkrh gS vkSj bu LFkyksa ij Hkatu vkjEHk

gks ldrk gS

(a) mPp] mPp

(b) fuEu] fuEu

(c) fuEu] mPp

(d) mPp] fuEu

25. Hkw&laifdZr dks"k okyh ,d 3-ØksM dsfcy ds fdUgh nks ØksMks ds

chp ekih xbZ /kkfjrk 3 F gSA izfr dyk /kkfjrk gksxh

(a) 1.5 F (b) 6 F

(c) 1 F (d) mijksDr eas ls dksbZ ugha

26. ØksM O;kl d vkSj lexz O;kl D okys ,d fo|qr jksf/kd dsfcy esa

vf/kdre vkSj U;wure ijkoS|qr izfrcy dk vuqikr fd;k tkrk

gS

(a) (D/d)1/2 }kjk (b) (D/d)2 }kjk

(c) D/d }kjk (d) d/D }kjk

27. fdlh ifjiFk fo;kstd dh fo;kstu {kerk dh rqyuk esa mldh

la;kstu {kerk gksuh pkfg,

(a) vf/kd

(b) de

(c) cjkcj

(d) nksuksa vkil esa dksbZ lEcU/k ugha

23. Examine the two statements ‘A’ and ‘R’ and select

your answer

Statement A : Switching of a lamp in house

produce noise in a radio.

Statement R : Switching operation produces are

across separating contacts

(a) Both A and R are true and R is a correct

explanation of A

(b) Both A and R are true and R is not correct

explanation of A

(c) A is true but R is false

(d) A is false but R is true

24. The small pockets of air in the high voltage cable

provide________relative permittivity _________

electric field and at these sites breakdown is likely

to be initiated

(a) high, high

(b) low, low

(c) low, high

(d) high, low

25. The capacitance measured between any two cores

of a 3-core cable with the sheated earthed is 3 F .

The capacitance per phase will be

(a) 15 F (b) 6 F

(c) 1 F (d) None of the above

26. In an insulated cable having core diameter d and

overall diameter D, the ratio of maximum to

minimum dielectric stress is given by

(a) (D/d)1/2 (b) (D/d)2

(c) D / d (d) d / D

27. Compared to the breaking capacity of a circuit

breaker, its making capacity should be

(a) more

(b) less

(c) equal

(d) the two are unrelated to each other
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28. bysDVªkWfud ifjiFkksa eas] fdlh oksYVrk flXuy ds DC ?kVd dks

vo:) djus ds fy, _________ dks oksYVrk L=ksr ds lkFk

Js.kh esa la;ksftr fd;k tkrk gS

(a) la/kkfj= (b) Mk;ksM

(c) izfrjks/kd (d) izsjd

29. n-izdkj ds v/kZpkyd ds fy,] eknu nzO; gS

(a) prq%la;kstd (b) iapla;kstd

(c) f=la;kstd (d) f}la;kstd

30. fn[kkbZ xbZ {kh.kdkjh ,"k.kh fuos'k /kkfjrk 0.1 F ds ,d izo/

kZd ls la;ksftr dh xbZ gSA lexz yfC/k dks vko`fÙk ls Lora=

cukus ds fy, 100 k ds fxnZ la;ksftr fd;k tkus okyk C dk

eku gS

100 k

10k

to amplifier

(a) 0.01 F (b) 0.1 F

(c) 1 F (d) 10 F

31. ykSg iVy esa flfydkWu dh ek=k 5% rd j[kh tkrh gS] D;kasfd

;g

(a) nzO; dks Hkaxqj cuk nsrk gS

(b) D;wjh rkikad dks de djrk gS

(c) 'kSfFky; gkfu dks c<+krk gS

(d) ykxr dks c<+krk gS

32. ,d okVekih 15 A/30 A, 300 V/600 V vafdr gS vkSj mldh

ekiuh ¼iSekuk½ 4500 okV rd vafdr gSA tc ekih dks 30 A,

600V ds fy, la;ksftr fd;k x;k] rks lwpd us 2000 okV

fn[kk;kA ifjiFk esa okLrfod 'kfDr gS

(a) 2000 okV (b) 4000 okV

(c) 6000 okV (d) 8000 okV

33. izfrjks/k fLopu izk;% iz;ksx fd;k tkrk gS

(a) Fkksd rsy fo;kstdksa esa

(b) U;wure rsy fo;kstdksa esa

(c) okR;k ifjiFk fo;kstdksa esa

(d) (a), (b) rFkk (c) lHkh esa

28. In electronic circuits, for blocking the DC

component of a voltage signal, a/an _________ is

connected is series with the voltage source

(a) capacitor (b) diode

(c) resistor (d) inductor

29. For n-type semiconductor, the doping material is

(a) tetravalent (b) pentavalent

(c) trivalent (d) bivalent

30. A attenuator probe as shown, is connected to an

amplifier of input capacitance 0.1 µF. Value of C

that must be connected across 100 k to make the

overall gain independent of frequency, is

100 k

10k

to amplifier

(a) 0.01 µF (b) 0.1 µF

(c) 1 µF (d) 10 µF

31. Silicon content ini iron lamination is kept within 5%

as it

(a) makes the material brittle

(b) reduces the curie point

(c) increased bysteresis loss

(d) increased cost

32. A wattmeter is marked 15A/30A, 300V/600V and

its scale is marked up to 4500 watts. When the meter

is connected for 30A, 600A, the point indicated 2000

watts. The actual power in the circuit is

(a) 2000 watts (b) 4000 watts

(c) 6000 watts (d) 8000 watts

33. Resistance switching is normally employed in

(a) bulk oil brakers

(b) minimum oil breakers

(c) air blast circuit breakers

(d) all of (a), (b) and (c)
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34. ;fn fdlh izR;korhZ oksYVrk dh dks.kh; vko`fÙk  gS] rks fdlh

ac ifjiFk esa vo'kksf"kr rkR{kf.kd okLrfod 'kfDr dh dks.kh;

vko`fÙk gS

(a) 2 (b) 

(c) 3 (d) /2

35. ;fn V
CE

 = 5V, V
BE

 = 0.7 V okys VªkaftLVj dk  = 45 gS] rks

R dk eku gS

8 K

+24V

VCE

230
–

R

+

VBE

(a) 85.64 k (b) 63.14 k

(c) 72.15 k (d) 91.18 k

36. ,d larqfyr 3-dyk ifjiFk esa] ykbu /kkjk 12A gSA tc 'kfDr

dks okVekih fof/k ls ekik x;k] rks ,dekih dk ikB~;kad 11

kW gS tcfd nwljs dks ikB~;kad 'kwU; gSA Hkkj dk 'kfDr xq.kd

gS

(a) 0 (b) 0.5

(c) 0.866 (d) 1.0

37. rq"kkfjr GLS ySEiksa ds ekeys esa] rq"kkj.k fd;k tkrk gS

(a) vEy mRdh.kZu }kjk (b) veksfu;k }kjk

(c) vkstksu }kjk (d) yo.k ty }kjk

38. ;fn fdlh i`Fkdr% mÙksftr DC eksVj ds vkesZpj VfeZuyksa dks

iznk; /kzqork mRØfer dj nh tk,] rks eksVj pysxh

(a) Iyxu fLFkfr ds vUrxZr

(b) iqu;ksZth vkjks/ku ¼czsdu½ fLFkfr ds vUrxZr

(c) xfrd vkjks/ku ¼czsdu½ fLFkfr ds vUrxZr

(d) lkekU; eksVfjax fLFkfr ds vUrxZr

34. If the angular frequency of an alternating voltage

is , then the angular frequency of instantaneous

real power absorbed in an ac circuit is

(a) 2 (b) 

(c) 3 (d) 

35. If the transistor having V
CE

 = 5 V, V
BE

 = 0.7 has

 = 45, value of R is

8 K

+24V

VCE

230
–

R

+

VBE

(a) 85.64 k (b) 63.14 k

(c) 72.15 k (d) 91.18 k

36. In a balanced 3-phase circuit, the line current is 12

A. When the power is measured by two wattmeter

method, one meter reads 11kW while the other

reads zero. Power factor of the load is

(a) 0 (b) 0.5

(c) 0.866 (d) 1.0

37. In case of frosted GLS lamps, frosting is done by

(a) Acid etching (b) ammonia

(c) ozone (d) salt water

38. If the supply polarity to the armature terminals of

a separately excited DC motor is reversed, the

motor will run under

(a) Plugging condition

(b) Regenerative braking condition

(c) Dynamic braking condition

(d) Normal motoring condition
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39. osYMu ds mís'; ls] iz;qä ifj.kkfe= dk f}rh;d l{ke gksuk

pkfg, ogu djus ds fy,

(a) mPp oksYVrk] mPp /kkjk

(b) mPp oksYVrk] fuEu /kkjk

(c) fuEu oksYVrk] mPp /kkjk

(d) fuEu oksYVrk] fuEu /kkjk

40. fuEu esa ls dkSu&lk lgh gS\

(a) Hkkj xq.kd = /kkfjrk xq.kd × mi;ksx xq.kd

(b) mi;ksx xq.kd = /kkfjrk xq.kd × Hkkj xq.kd

(c) /kkfjrk xq.kd = Hkkj xq.kd × mi;ksx xq.kd

(d) Hkkj xq.kd dk /kkfjrk xq.kd vkSj mi;ksx xq.kd ds lkFk dksbZ

lEcU/k ugha gS

41. fdlh eksVj izorZd eas] oS|qr&;kaf=d laifdZ= fdlds izfr varfuZfgr

lqj[kk miyC/k djkrk gS\

(a) vfr&/kkjk (b) y?kq&iFk

(c) ,d&dyk;u (d) vo&oksYVrk

42. ifjiFk esa] 2F ds la/kkfj= ds fxnZ fuos'k oksYVrk V iz;qä dh xbZ

gSA la/kkfj= ls tkus okyh /kkjk gS

+
–V 2F

10

–12

1 2
3

4 5

V

t

(a)

10

0
–10

1 3 5
t

(b)

20

0

–20

1 3 5
t

39. For welding purpose, the secondary of transformer

used should be capable of carrying

(a) high voltage, high current

(b) high voltage, low current

(c) low voltage, high current

(d) low voltage, low current

40. Which of the following is correct ?

(a) Load factor = capacity factor   utilisation factor

(b) Utilisation factor = capacity factor   load factor

(c) Capacity factor = load factor  utilisation factor

(d) Load factor has no relation with capacity

factor and utilisation factor

41. In a motor starter, the electromechanical contactor

provides inherent protection against

(a) over-current (b) short-circuit

(c) single-phasing (d) under-voltage

42. In the circuit, V is the input voltage applied across the

capacitor of 2 F. Current through the capacitor is

+
–V 2F

10

–12

1 2
3

4 5

V

t

(a)

10

0
–10

1 3 5
t

(b)

20

0

–20

1 3 5
t
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(c)

11

0

–11

1 3 5
t

10

(d)

22

0

–22

1 3 5
t

20

43. v/kZpkyd esa] izfrjks/kdrk

(a) rki ij fuHkZj djrh gS

(b) oksYVrk ij fuHkZj djrh gS

(c) mlesa ls tkus okyh /kkjk ij fuHkZj djrh gS

(d) mijksDr eas ls dksbZ Hkh ugha

44. ,d xhtj dks 230 V, 50 c/s esUt ls pyk;k tkrk gSA xhtj }kjk

miHkqDr rkR{kf.kd 'kfDr dh vko`fÙk gS

(a) 25 c/s (b) 50 c/s

(c) 100 c/s (d) 150 c/s

45. ,sfEi;j&lsd.M fdldk ,dd gS

(a) fo-ok- cy (emf) (b) 'kfä

(c) fo|qr vkos'k (d) ÅtkZ

46. cjkcj /kkfjrk ekuksa vkSj 0.01 rFkk 0.02 ds 'kfä xq.kdksa okys

nks {k;;qä la/kkfj= ik'oZ eas gS vkSj la;kstu dh iwfrZ ,d

T;koØh; oksYVrk L=ksr ls dh tkrh gSA la;kstu dk 'kfä xq.kd

gS

(a) 0.03 (b) 0.015

(c) 0.01 (d) 0.0002

47. ,d oksYVekih dks DC iwfrZ ds fxnZ la;ksftr djus ij ikB~;kad

124V gSA tc iwfrZ ds fxnZ oksYVekih dk ,d Js.kh la;kstu vkSj

,d vKkr izfrjks/k X dks tksM+ fn;k tk,] rks ekih dk ikB~;kad

4V gksrk gSA ;fn oksYVekih dk izfrjks/k 50 kgS] rks X dk

eku gS

(a) 1550 k (b) 1600 kW

(c) 1.6 k (d) 1.5 M

(c)

11

0

–11

1 3 5
t

10

(d)

22

0

–22

1 3 5
t

20

43. In a semiconductor, the resistivity

(a) depends on temperature

(b) depends on voltage

(c) depends on current through it

(d) None of the above

44. A geyser is operated from 230V, 50 c/s mains. The

frequency of instantaneous power consumed by

the geyser is

(a) 25 c/s (b) 50 c/s

(c) 100 c/s (d) 150 c/s

45. Ampere-second is the unit of

(a) emf (b) power

(c) electric charge (d) energy

46. Two lossy capacitors with equal capacitance values

and power factors of 0.01 and 0.02 are in parallel,

and the combination is supplied from a sinusoidal

voltage source. The power factor of the

combination is

(a) 0.03 (b) 0.015

(c) 0.01 (d) 0.0002

47. A voltmeter when connected across aDC supply, reads

124 V. When a series combination of the voltmeter

and an unknown resistance X is connected across

the supply , the meter reads 4V. If the resistance of

the voltmeter is 50k , the value of X is

(a) 1550k (b) 1600k

(c) 1.6k (d) 1.5k
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48. V~;wc&ykbV eas pksd yxkus dk mís'; gS

(a) dksjksuk izHkkoksa dks nwj djuk

(b) jsfM;ksa O;fDrdj.k ls cpuk

(c) 'kfä xq.kd esa lq/kkj djuk

(d) /kkjk dfks mi;qä eku rd lhfer j[kuk

49. ,d 3-dyk 400 V, 4-rkj ;a= esa] nks rkinhIr ySEi] ,d 230

V, 100 W fofunsZ'k okyk vkSj nwljk 230 V, 200 W fofunsZ'k

okyk] Øe'k% R dyk&U;wVªy rFkk Y dyk&U;wVªy ds chp la;ksftr

gSaA ;fn U;wVªy rkj VwV tk,] rks

(a) 100 W ySEi igys ¶;wt gksxk

(b) 200 W ySEi igys ¶;wt gksxk

(c) nksuksa ySEi ,d&lkFk ¶;wt gksxk

(d) nksuksa ySEi nhIr gkasxs

50. izsjdRo 250 mH vkSj izfrjks/k 10 okyk ,d ifjukfydk ,d

cSVjh ds lkFk tksM+ xbZ gSA pqEcdh; ÅtkZ ds fy, vius vf/kdre

eku ds 1/4 rd igq¡pus ds fy, yxus okyk le; gS

(a) log
e
(2) (b) 10–3 log

e
(2)

(c) 25 log
e
(2) (d) e

1
log (2)

40

51. fdlh v/kZ&rjax fn"Vdkjh ds fuxZe oksYVrk dk f'k[kj eku

100 V gSA v/kZ&rjax fn"Vdkjh fuxZe oksYVrk dk r.m.s.

eku gksxk

(a) 100 V (b) 50 V

(c) 70.7 V (d) 35.35 V

52. fn;k x;k ifjiFk fu:fir djrk gS

R2

R1–VEE

VEE

Vi V0+

(a) ,d fLFkfrdh cgqdfi= dks

(b) Lopkfyr cgqdfi= dks

(c) f'keV fVªxj dks

(d) f}fLFkfrd cgqdfi= dks

48. The purpose of providing a choke in the tube-light is

(a) to eliminate the corona effects

(b) to avoid radio interference

(c) to improve power factor

(d) to limit current to appropriate value

49. In a 3-phase 400 V, 4-wire system, two incandescent

lamps, one having 230 V, 100 W specification and

the other 230 V, 200 W are connected between R

phase-neutral and Y phase-neutral respectively. If

the neutral wire breaks

(a) 100 W lamp will fuse first

(b) 200 W lamp will fuse first

(c) both the lamps will fuse together

(d) both the lamps will glow

50. A solenoid of inductance 250 mH and resistance

1 0  is connected to a battery. The time taken for

the magnetic energy to reach 1/4th of its maximum

value is

(a) log
e
(2) (b) 10–3 log

e
(2)

(c) 25 log
e
(2) (d) e

1
log (2)

40

51. The peak value of the output voltage of a half wave

rectifier is 100 V. The r.m.s value of the half-wave

rectifier output voltage will be

(a) 100 V (b) 50 V

(c) 70.7 V (d) 35.35 V

52. The given circuit represents a

R2

R1–VEE

VEE

Vi V0+

(a) Monostable multivibrator

(b) Astable multivibrator

(c) Schmitt trigger

(d) Bistable multivibrator
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53. FET dk fuos'k izfrjks/k gksrk gS yxHkx

(a) 100  (b) 10 

(c) 1 m (d) 100 M

54. ,d Js.kh R-L ifjiFk esa] ftldh iwfrZ ,d T;koØh; oksYVrk L=ksr

ls gksrh gS] R rFkk L ds vkj&ikj oksYVrk Øe'k% 3V vkSj 4V gSA

rks iwfrZ oksYVrk gS

(a) 7 V (b) 1 V

(c) 3.5 V (d) 5 V

55. ;fn fdlh dsfcy ds 2 m yEcs izfrn'kZ ds fo|qrjks/ku izfrjks/k

10 M gS] rks mlds 8 m yEcs izfrn'kZ dk fo|qrjks/ku izfrjksèk

gksxk

(a) 40 M (b) 2.5 M

(c) 2 M (d) 5.5 M

56. ,d izsjd dks T;koØh; oksYVrk L=ksr ls iwfrZ dh tkrh gSA izsjd

esa pqEcdh; {ks= ÅtkZ f'k[kj eku ls cny dj 10 msec esa

U;wure eku ij igq¡p tkrh gSA iwfrZ vko`fä gS

(a) 50 Hz (b) 25 Hz

(c) 1 kHz (d) 100 Hz

57. nks 2000 , 2 okV izfrjks/kd ik'oZ esa la;ksftr fd, x, gSA

mudk la;qDr izfrjks/k eku vkSj okV nj gS

(a) 1000 , 2 okV (b) 1000 , 4 okV

(c) 2000 , 4 okV (d) 2000 , 2 okV

58. gekjs ikl rhu izfrjks/k gSa ftudk eku 1, 2vkSj 3gSA

;fn rhuksa izfrjks/kksa dks ,d ifjiFk eas la;ksftr djuk gks] rks rqY;

izfrjksèk ds fdrus fHkUu eku lEHko gS

(a) ik¡p (b) N%

(c) lkr (d) vkB

59. ,d B.O.T. bdkbZ gksrh gS

(a) 1000 kWh (b) 10 kWh

(c) 1 kWh (d) 0.1 kWh

60. ,d oS|qr rkid fdlh 250 V L=ksr ls 1000 okV ysrk gSA

200 V L=ksr ls yh xbZ 'kfä gS

(a) 800 W (b) 640 W

(c) 1000 W (d) 1562.5 W

53. The input resistance of a FET is of the order of

(a) 100  (b) 10 

(c) 1 m (d) 100 M

54. In a series R-L circuit supplied from an sinusoidal

voltage source, voltage across R and L are 3 V

and 4 V respectively. The supply voltage is then

(a) 7 V (b) 1 V

(c) 3.5 V (d) 5

55. If the insulation resistance of 2m long sample of a

cable is 10M , then a 8m long sample of the same

will have an insulation resistance of

(a) 40 M (b) 2.5 M

(c) 2 M (d) 5.5 M

56. An inductor is supplied from a sinusoidal voltage

source. The magnetic field energy in the inductor

changes from peak value to minimum value 10

msec. The supply frequency is

(a) 50 Hz (b) 25 Hz

(c) 1 kHz (d) 100 Hz

57. Two 2000 , 2 watt resistors are connected in

parallel. Their combined resistance value and

wattage rating are

(a) 1000, 2 watt (b) 1000 , 4 watt

(c) 2000, 4 watt (d) 1000 , 2 watt

58. We have three resistances each of value 1 , 2 

and 3. If all the three resistances are to be

connected in a circuit, how many different values

of equivalent resistance are possible?

(a) Five (b) Six

(c) Seven (d) Eight

59. One B.O.T. unit is

(a) 1000 kWh (b) 10 kWh

(c) 1 kWh (d) 0.1 kWh

60. An electric heater draws 1000 watts from a 250 V

source. The power drawn from a 200 V source is

(a) 800 W (b) 640 W

(c) 1000 W (d) 1562.5 W
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61. rhu 3 F la/kkfj= Js.kh esa gSA bl Js.kh O;oLFkk ds lkFk ,d

6 F la/kkfj= ik'oZ esa gSA bl la;kstu dh rqY; /kkfjrk gS

(a) 7 F (b) 15 F

(c) 3.6 F (d) 1 F

62. ,d DC Js.kh eksVj dk vkesZpj izfrjks/k 0.06 gS vkSj Js.kh

{ks= izfrjks/k 0.08 gSA eksVj 400 V iwfrZ ds lkFk la;ksftr

gSA e'khu dh pky 1100 rpm gksus ij ykbu /kkjk 20A gSA ;fn

ykbu /kkjk 50A gks vkSj mÙkstu dks 30% c<+k fn;k tk,] rks

e'khu dh pky rpm eas gS

(a) 1100 (b) 1003

(c) 837 (d) 938

63. fp= ds vuqlkj R, L rFkk C ds vkj&ikj oksYVrk Øe'k% 3V,

14V vkSj 10V gSA ;fn oksYVrk dk L=ksr T;koØh; gks] rks fuos'k

oksYVrk (rms) gS

R

3V

L C

14V 10V

(a) 10 V (b) 5 V

(c) 2.5 V (d) 15 V

64. 1-dyk RL Js.kh ifjiFk esa] ftldk Hkj.k oksYVrk L=ksr ls

gksrk gS] izfrjks/k vkSj izfr?kkr eku izR;sd esa 4gSA bl

ifjiFk esa

(a) /kkjk] oksYVrk ls 45° vkxs gS

(b) /kkjk] oksYVrk ls 45° ihNs gS

(c) /kkjk] oksYVrk ls 60° ihNs gS

(d) mijksDr eas ls dksbZ ugha

65. vè;kjksi.k izes; dks mrus gh ifjiFk lqy>kus dh vis{kk gksrh gS

ftrus

(a) fuLian ¼uksM½ gks

(b) L=ksr gks

(c) ik'kw ¼ywi½ gks

(d) mijksDr eas ls dksbZ ugha

61. Three 3 F capacitors are in series. A 6 F

capacitor is in parallel with this series arrangement.

The equivalent capacitance of this combination is

(a) 7 F (b) 15 F

(c) 3.6 F (d) 1 F

62. A DC series motor has an armature resistance of

0.06  and series field resistance of 0.08 . The

motor is connected to a 400 V supply. Thus line current

is 20 A when the speed of the machine is 1100 rpm.

When the line current is 50 A and the excitation is

increased by 30%, speed of the machine in rpm is

(a) 1100 (b) 1003

(c) 837 (d) 938

63. The voltage across R, L and C are 3V, 14 V, and 10

V respectively as in the figure. If the voltage source

is sinusoidal, then the input voltage (rms) is

R

3V

L C

14V 10V

(a) 10 V (b) 5 V

(c) 2.5 V (d) 15 V

64. In 1-phase series RL circuit fed by voltage source,

the resistance and reactance values are 4 ohm each.

In this circuit.

(a) the current leads the voltage by 45°

(b) the current lags the voltage by 45°

(c) the current lags the voltage by 60°

(d) None of the above

65. Super position theorem requires as many circuits

to be solved as there are

(a) nodes

(b) sources

(c) loops

(d) None of the above
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66. fiatjh izsj.k eksVj esa] jksVj pkyd gksrs gSa

(a) foo`r ifjifFkr

(b) vaR; oy;kas ds ekxZ ls y?kqifFkr

(c) cká izfr?kkr ds ekxZ ls y?kqifFkr

(d) cká izfrjks/k ds ekxZ ls y?kqifFkr

67. 3-dyk rqY;dkfyd eksVj dks _______ eas fodflr cy&vk?kw.kZ

dk mi;ksx djds izofrZr fd;k tkrk gS

(a) mPp&pky Hkki Vjckbu

(b) jksVj ij voeand dq.Myh

(c) LVsVj ij voeand dq.Myh

(d) fuEu&pky ty&Vjckbu

68. ;fn oksYVrk ds ifjek.k dks vifjofrZr j[krs gq, fdlh ifj.kkfe=

dh fuos'k oksYVrk dh vko`fÙk dks c<+k;k tk, rks

(a) ØksM esa fgLVsfjfll gkfu vkSj Hkaoj /kkjk gkfu nksuks a

c<+ sxh

(b) fgLVsfjfll gkfu c<+sxh] ijUrq Hkaoj /kkjk gkfu ?kVsxh

(c) fgLVsfjfll gkfu c<+sxh] ijUrq Hkaoj /kkjk gkfu vifjofrZr

jgsxh

(d) fgLVsfjfll gkfu ?kVsxh] ijUrq Hkaoj&/kkjk gkfu c<+sxh

69. nks ,d&dyh; AC eksVjsa A rFkk B ,d 1000 V iwfrZ ls pyrh

gSA A 0.8 ds 'kfDr xq.kd ¼i'pxkeh½ ij 2 kW dh [kir djrk

gS vkSj B 0.5 ds 'kfä xq.kd ¼i'pxkeh½ ij 1 kW dh [kir

djrk gSA iwfrZ ls yh xb dqy /kkjk gS yxHkx

(a) 4.5 A (b) 2.1 A

(c) 4.41 A (d) 9 A

70. 100 KVA, 1100/220 V, 50 Hz okys ,d forj.k ifj.kkfe= ds

mPp oksYVrk rFkk fuEu oksYVrk dq.Myh izfrjks/k Øe'k% 0.1

vkSj 0.004gSaA mPp oksYVrk i{k vkSj fuEu oksYVrk i{k dks

fufnZ"V rqY; izfrjks/k gS Øe'k%

(a) 2.504 vkSj 0.2 

(b) 0.2 vkSj 0.008 

(c) 0.10016 vkSj 2.504 

(d) 0.008 vkSj 0.10016 

66. In squirrel cage induction motor, the rotor

conductors are

(a) open circuited

(b) short circuited via end rings

(c) short circuited via external reactance

(d) short circuited via external resistance

67. A 3-phase synchronous motor is started by utilizing

the torque developed in

(a) the high speed steam turbine

(b) the damper winding on the rotor

(c) the damper winding on the stator

(d) the low speed water turbine

68. If the frequency of input voltage of a transformer

is increased keeping the magnitude of the voltage

unchanged, then

(a) both hysteresis loss and eddy current loss in

the core will increase.

(b) hysteresis loss will increase but eddy current

loss will decrease

(c) hysteresis loss will increase but eddy current

loss will remain unchanged

(d) hysteresis loss will decrease but eddy current

loss will increase

69. Two 1-phase AC motors A and B operate from a

1000 V supply. A consumes 2 kW at a power factor

of 0.8 (lagging) and B comsumes 1 kW at a power

factor of 0.5 (lagging). The total  current drawn

from the supply is approximately

(a) 4.5 A (b) 2.1 A

(c) 4.41 A (d) 9 A

70. The high voltage and low voltage winding resistances

of a distribution transformer of 100KVA, 1100/220

V, 50 Hz are 0.1  and 0.004 respectively. The

equivalent resistances referred to high voltage side

and low voltage side are respectively

(a) 2.504  and 0.2 

(b) 0.2  and 0.008 

(c) 0.10016  and 2.504 

(d) 0.008  and 0.10016 
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71. A tank circuit consists of

(a) an inductor and a capacitor connected in

series

(b) an inductor and a capacitor connected in

parallel

(c) a pure inductance and a pure capacitance

connected in series

(d) a pure inductance and a pure capacitance

connected in parallel

72. The instantaneous power of a 1-phase series circuit

supplying R-L load from a sinusoidal voltage source

has in each cycle.

(a) negative twice, zero four times

(b) zero twice, negative once

(c) negative four times, zero twice

(d) negative twice, zero once

73. In a series R-L-C circuit, the “Q-factor” is given

by

(a)
1 L

Q
R C
 (b)

L
Q R

C


(c)
1 C

Q
R L
 (d)

C
Q R

L


74. In an ac circuit, V = (200 + j 40) V and I = (30 – j

10) A. The active and reactive power of the circuit

are respectively

(a) 6400 W, 800 VAR capacitive

(b) 6400 W, 800 VAR inductive

(c) 5600 W, 3200 VAR capacitive

(d) 5600 W, 3200 VAR inductive

75. Application of Norton’s theorem in a circuit

results in

(a) a current source and an impedance in paralle

(b) a voltage source and an impedance in series

(c) an ideal voltage source

(d) an ideal current source

71. ,d Vadh ifjiFk esa gksrk gS

(a) Js.kh esa la;ksftr ,d izsjd vkSj ,d la/kkfj=

(b) ik'oZ esa la;ksftr ,d izsjd vkSj ,d la/kkfj=

(c) Js.kh eas la;ksftr ,d 'kq) izsjdRo vkSj ,d 'kq) /kkfjrk

(d) ik'oZ eas la;ksftr ,d 'kq) izsjdRo vkSj ,d 'kq) /kkfjrk

72. ,d T;koØh; L=ksr ls R-L Hkkj dh iwfrZ dj jgs 1-dyk Js.kh

ifjiFk dh rkR{kf.kd 'kfä ds izR;sd pØ eas gksrs gSa

(a) _.kkRed nks ckj] 'kwU; pkj ckj

(b) 'kwU; nks ckj] _.kkRed ,d ckj

(c) _.kkRed pkj ckj] 'kwU; nks ckj

(d) _.kkRed nks ckj] 'kwU; ,d ckj

73. R-L-C ifjiFk dh Ükà[kyk ¼Js.kh½ eas 'Q' xq.kd dSls izdV fd;k

tkrk gS

(a)
1 L

Q
R C
 (b)

L
Q R

C


(c)
1 C

Q
R L
 (d)

C
Q R

L


74. ,d ac ifjiFk esa V = (200 + j40)V rFkk i = (30 – j10) A

gSaA rn~uqlkj ml ifjiFk dh lfØ; rFkk izfr?kkrh 'kfä;k¡ Øe'k%

fdruh gksaxh

(a) 6400 W, 800 VAR /kkfjr

(b) 6400 W, 800 VAR izsjf.kd

(c) 5600 W, 3200 VAR /kkfjr

(d) 5600 W, 3200 VAR izsjf.kd

75. ifjiFk eas ukWVZu izes; ykxw djus dk ifj.kke gksrk gS

(a) ,d /kkjk L=ksr vkSj ,d izfrck/kk ik'oZ esa

(b) ,d oksYVrk L=ksr vkSj ,d izfrck/kk ik'oZ esa

(c) ,d vkn'kZ oksYVrk L=ksr

(d) ,d vkn'kZ L=ksr
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76.

10

ve

i



uhps ifjiFk oksYVrk (V) rFkk (i) dk oØ fn[kk;k x;k gS

v

100V

0.5A
i

0

88V

L=ksr e dk vkarfjd izfrjks/k gS

(a) 24  (b) 4 

(c) 10  (d) 14 

77. Hkkj izfrck/kk LZ  dk eku] ftlds fy, Hkkj vf/kdre 'kfä dk

miHkksx djrk gS] rks

SZ
o12 30 LZ

SZ 30 j40  

(a) 'kfä xq.kd 0.6 vkxs ij 50

(b) 'kfä xq.kd 0.6 ihNs ij 50

(c) bdkbZ ds 'kfä xq.kd ij 30

(d) mijksDr eas ls dksbZ ugha

78. fLFkj oksYVrk iznk; ls pkyw ,d DC Js.kh dh eksVj dh pky dk

cy&vk?kw.kZ vfHky{k.k dSlk gksrk gS

(a)

Speed

Torque

(b)

Speed

Torque

76.

10

ve

i



The voltage (v) vs current (i) curve of the circuit is

shown below :
v

100V

0.5A
i

0

88V

Internal resistance of the source e is

(a) 24 (b) 4

(c) 10 (d) 14

77. Value of the load impedance LZ  for which the load

consumes maximum power is

SZ
o12 30 LZ

SZ 30 j40  

(a) 50  at a power factor of 0.6 lead

(b) 50  at a power factor of 0.6 lag

(c) 30  at a power factor of unity

(d) None of the above

78. The speed - torque characteristics of a DC series

motor operating from a constant voltage supply is

(a)

Speed

Torque

(b)

Speed

Torque
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(c)

Speed

Torque

(d)

Speed

Torque

79. lwph I ¼e'khu½ dk lwph II ¼vkys[k½ ls feyku dhft, vkSj mfpr

mÙkj dk p;u dhft,

lwph&I lwp h&II

A. DC eksVj 1. o`Ùkh; vkjs[k

B. DC tfu= 2. V-oØ

C. izR;kofrZr 3. [kqyk ifjiFk vfHky{k.k

D. izsj.k eksVj 4. pky&cy vk?kw.kZ vfHky{k.k

A          B           C           D

(a) 4           3            1            2

(b) 3           4            1            2

(c) 4           3            2            1

(d) 3           4            2            1

80. rhu cjkcj izfrck/kk,¡] igys 3-Qst dh larqfyr iznk; esa]

f=dks.k es tksM+h xbZ gSaA ;fn mUgsa mlh iznk; eas rkjk dh rjg

tksM+k tk,] rks D;k gksxk

(a) Qst /kkjk,¡] fiNys eku dh
1

3
gks tk,xh

(b) ykbu /kkjk,¡] fiNys eku dh
1

3
gks tk,xh

(c) 'kfä dh [kir] fiNys eku dh
1

3
gks tk,xh

(d) 'kfä dh [kir] fiNys eku dh 3 xquh gks tk,xh

81. oksYVrk rjax] V = 110 + 175sin(314t – 25°)oksYV dk]

vkSlr eku fdruk gksxk

(a) 110 V (b) 175 V

(c) 165.57 V (d) 206.7 V

(c)

Speed

Torque

(d)

Speed

Torque

79. Match List I (Machine) with List II (Graph) and

select the appropriate response

List I List II

A. DC Motor 1. Circle diagram

B. DC Generator 2. V - curve

C. Alternator 3. Open circuit

characteristics

D. Induction motor 4. Speed - Torque

characteristics

A          B           C           D

(a) 4           3            1            2

(b) 3           4            2            1

(c) 4           3            2            1

(d) 3           4            2            1

80. Three equal impedances are first connected in

delta across a 3-phase balanced supply. If the same

impedances are connected in star across the same

supply

(a) phase currents will be
1

3
of the previous value

(b) line currents will be
1

3
of the previous value

(c) power consumed will be
1

3
 of the previous

value

(d) power consumed will be 3 times the previous

value

81. The average value of the voltage wave v = 110 +

175 sin (314t – 25°) volts is

(a) 110 V (b) 175 V

(c) 165.57 V (d) 206.7 V
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82. AC L=ksr dh ,d /kkjk nks 'kk[kkvkas A rFkk B esa] lekUrj <ax

ls foHkkftr gks xbZ gSA mueas A ,d izsjd gS] ftldk izsjdRo 30

H rFkk izfrjks/k 1gSA nwljh B Hkh] ,d izsjd gS] ftldk

izsjdRo L rFkk izfrjks/k 1.5 gSA rnuqlkj] mu 'kk[kkvkas eas /

kkjkvksa dk vuqikr] iznk; vko`fÙk ls Lora= gks lds] blds fy,

L dk eku fdruk gksuk pkfg,

(a) 30.5 H (b) 20 H

(c) 45 H (d) 29.5 H

83. fdlh lkoZf=d eksVj dh D;k fo'ks"krk gksrh gS

(a) iznk; oksYVrk ds fdlh Hkh eku ij pkyw jg ldrh gS

(b) mldk pky vifjfer ifjorhZ gksrh gS

(c) ac rFkk dc nksuksa izdkj dh oksYVrk ij py ldrh gS

(d) ,dy&Qst vFkok rhu&Qst okyh eksVj ds :i esa dk;Z dj

ldrh gS

84. ;fn fdlh ,dy&Qst ds izfrjks/k foHkä izsj.k eksVj vidsUnzh

fLop] eksVj ds izorZu ds ckn ugha [kqys eksVj dk D;k gksxk

(a) lkekU; pky ls vf/kd ij pysxh

(b) lkekU; pky ls de ij pysxh

(c) cgqr de /kkjk [khapsxh

(d) cgqr vf/kd Hkkj [khapsxh vkSj vfrr`Ir tk,xh

85. izR;kofrZ=] lkekU;r% fdl izdkj dh AC oksYV mRiUu djus ds

fy, cuk, tkrs gSa

(a) fLFkj vko`fÙk ds lkFk

(b) pj vko`fÙk ds lkFk

(c) fLFkj /kkjk

(d) fLFkj 'kfä ?kVd

86. rhu izsjd] ftuesa izR;sd 60 mH dk gS] f=Hkqt ¼MsYVk eas½ tksM+s x,

gSaA rn~uqlkj] mUgha tSlsk dks ---n ds vkdkj eas tksM+us ij izR;sd

Hkqtk dk izsjdRo esa fdruk gksxk

(a) 10 mH (b) 15 mH

(c) 20 mH (d) 30 mH

87. AC L=ksr ls tksM+us ij] fdlh izsjd dh pqEcdh; ÅtkZ] 5 msec

esa vf/kdre ls U;wure eku esa c<+ tkrh gSA rn~uqlkj] L=ksr dh

vko`fÙk fdruh gksxh (Hz esa)

(a) 500 (b) 200

(c) 50 (d) 20

82. A current from an AC source divides into two

branches A and B in parallel. Branch A is an inductor

w i t h  3 0 H inductance and 1 resistance. Branch

B is another inductor with inductance L and 1.5

resistance. For the ratio of currents in the branches

to be independent of supply frequency, value of L

should be

(a) 30.5 H (b) 20 H

(c) 45 H (d) 29.5 H

83. A universal motor is one which

(a) can run on any value of supply voltage

(b) has infinitly varying speed

(c) can operate on ac as well as dc voltage

(d) can work as single phase or three phase

84. If the centrifugal switch of a single phase resistance

split induction motor does not open after starting

of motor, the motor

(a) will run above normal speed

(b) will run below normal speed

(c) will draw very small current

(d) will draw high current and get over heated

85. Alternators are usually designated to generate

which type of AC voltage ?

(a) with fixed frequency

(b) with variable frequency

(c) fixed current

(d) fixed power factor

86. Three inductors each of 60 mH are connected in

delta. The value of inductance of each arm of the

equivalent star connection is

(a) 10 mH (b) 15 mH

(c) 20 mH (d) 30 mH

87. The magnetic field energy in an inductor changes

from maximum value to minimum value in 5 msec

when connected to an AC source. The frequency

of the source in Hz is

(a) 500 (b) 200

(c) 50 (d) 20
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88. A voltage source having an open-circuit voltage of

150 V and internal resistance of 75  is equivalent

to a current source of

(a) 2A in series with 75

(b) 2A in parallel with 37.5

(c) 2A in parallel with 75

(d) 1 A in parallel with 150

89. A 300 kW alternator is driven by a prime mover of

speed regulation 4% while the prime mover of

another 200 kW alternator has a speed regulation of

3%. When operating in parallel; the total load they

can take without any of them being overloaded is

(a) 500 kW (b) 567 kW

(c) 425 kW (d) 257 kW

90. The commutator in DC machine acts as

(a) a mechanical inverter

(b) a mechanical rectifier

(c) current controller

(d) either (a) or (b)

91. The purpose of using dummy coil inDC machine is to

(a) eliminate harmonics developed in the machine

(b) eliminate harmonics reaction

(c) bring mechanical balance of the armature

(d) bring mechanical balance of the body of the

motor

92. An inductor with a ferromagnetic core is supplied

from a sinusoidal voltage source with frequency

'f '. The current drawn by the inductor will be

(a) sinusoidal with frequency 'f '

(b) sinusoidal with frequency '2f '

(c) a sawtooth wave

(d) non-sinusoidal with frequency 'f '

93. For a 6-pole DC machine with wave wound

armature, the number of brushes required is

(a) 2 (b) 4

(c) 6 (d) 12

88. ,d oksYVrk L=ksr ftlesa 150 V oksYVrk dk [kqyk ifjiFk vkSj

75dk vkarfjd izfrjks/k gS] fdrus ekuk dh /kkjk L=ksr ls

cjkcj gksxk

(a) 75  ds lkFk Js.kh esa] 2A

(b) 37.5  ds lkFk lekUrj] 2A

(c) 75  ds lkFk lekUrj] 2A

(d) 150  ds lkFk lekUrj] 1A

89. 300 kW dk ,d izR;kofrZr 4% pky fu;eu ij ,d eq[;

pkyd ls pyk;k x;k gSA ,d vU; 200 kW dk izR;kofrZ=] 3%

pky fu;eu ij pyk;k x;k gSA ;fn os nksuksa lekUrj pkyw gksa]

rks fcuk vfrHkkfjr gq,] os nksuksa feydj fdruk Hkkj ogu dj

ldrs gSa

(a) 500 kW (b) 567 kW

(c) 425 kW (d) 257 kW

90. fdlh DC e'khu dk fnd~ifjorZd fdl :i eas dk;Z djrk gks

(a) ;kaf=d izrhid

(b) ;kaf=d fn"Vdkjh

(c) /kkjk fu;a=d

(d) ;k rks (a) ;k (b)

91. DC e'khuksa esa vfØ; dq.Myh yxkus dk mís'; D;k gS

(a) e'khu esa mRiUu lauknh dk foyksiu

(b) vkesZpj izfrfØ;k dk foyksiu

(c) vkesZpj esa ;kaf=d larqyu ykuk

(d) eksVj ds <k¡ps esa ;kaf=d larqyu ykuk

92. yksg pqEcdh; ØksM ds ,d izsjd dks T;koØh; oksYVrk L=ksr ls

vko`fÙk 'f' dh /kkjk nh xbZ gSA rn~uqlkj] ml izsjd }kjk df"kZr èkkjk

dSlh gksxh

(a) vko`fÙk 'f ' lfgr T;koØh;

(b) vko`fÙk '2f ' lfgr T;koØh;

(c) vkjk&nk¡rh rjax

(d) vko`fÙk 'f ' lfgr vT;koØh;

93. rjax dq.Mfyr vkesZpj okyh 6-/kzqoh DC e'khu ds fy, fdrus

czq'kksa dh t:jr gksrh gS

(a) 2 (b) 4

(c) 6 (d) 12
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94. Function of interpoles in a DC machine is to

(a) reduce field winding heating

(b) improve commutation

(c) compensate for air gap variation

(d) reduce losses

95. The commutator segments of DC machine are

made of

(a) tungsten

(b) hard drawn copper

(c) soft copper

(d) electrolytic copper

96. Which one of the following is a speed control method

of three phase squirrel cage induction motor?

(a) Plugging method

(b) Star - delta switch method

(c) Pole changing method

(d) Centrifugal clutch method

97. In the circuit as shown, voltage measured between

A, B, is found to be 70 V. Value of M is

100 V

MA B

+ –70 V

100 mH 200 mH

(a) 30 mH (b) 100 mH

(c) 200 mH (d) 70 mH

98. Two coupled coills, connected in a series have and

equivalent inductance of 16 mH or 8 mH depending

on the connection. The mutual inductance between

the coil is

(a) 12 mH (b) 8 2 mH

(c) 4 mH (d) 2 mH

94. fdlh DC e'khu esa varjk/kzqokas dk dk;Z D;k gksrk gS

(a) {ks= dq.Myh ds rkiu dks de djuk

(b) fnd~ifjorZu esa lq/kkj djuk

(c) ok;q&varjky ifjorZu dk izfrdkj djuk

(d) gkfu de djuk

95. DC e'khu ds fnd~ifjorZd ds [k.M fdlsl curs gSa

(a) VaxLVu

(b) dBksj df"kZr rk¡ck

(c) uje rk¡ck

(d) fo|qr&vi?kV~; rk¡ck

96. fuEu esa ls dkSu&lh fof/k] rhu&/kzqoh fxygjh ds fiatjs tSlh eksVj

dh xfr fu;a=.k dh fof/k gks

(a) Iyxu fof/k

(b) rkj&f=Hkqt fLop fof/k

(c) /kzqo&ifjorZuh; fof/k

(d) vidsUnzh Dyp fof/k

97. fp= eas iznf'kZr ifjiFk esa] A, B ds chp ekih oksYVrk 70V izkIr

gqbZA rn~uqlkj M dk eku fdruk gksxk

100 V

MA B

+ –70 V

100 mH 200 mH

(a) 30 mH (b) 100 mH

(c) 200 mH (d) 70 mH

98. nks ;qfXer dq.Mfy;k¡] tks Js.kh esa tqM+h gSa] tksM+ ds vk/kkj ij 16

mH ;k 8 mH ds cjkcj izsjd okyh gSA rn~uqlkj mu dq.Mfy;ksa

ds chp vU;ksU; izsjdRo fdruk gksxk\

(a) 12 mH (b) 8 2 mH

(c) 4 mH (d) 2 mH
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99. Tesla is the unit of

(a) electric flux density

(b) magnetic field intensity

(c) electric field intensity

(d) magnetic flux density

100. Which one of the following is a valid value of

coefficien of coupling between two inductors?

(a) 1.414 (b) 0.2

(c) 1.732 (d) 17.32

99. Vslyk fdldh bdkbZ gS

(a) fo|qr ¶yDl ?kuRo

(b) pqEcdh; {ks= rhozrk

(c) fo|qr {ks= rhozrk

(d) pqEcdh; ¶yDl ?kuRo

100. fuEu eas ls dkSu&lk nks izdkjksa ds chp ;qXeu ds xq.kkad dk lgh

eku gS

(a) 1.414 (b) 0.2

(c) 1.732 (d) 17.32



1 D 2 C 3 D 4 B 5 C

6 B 7 A 8 B 9 D 10 C

11 C 12 B 13 C 14 C 15 B

16 B 17 B 18 C 19 D 20 A

21 B 22 A 23 A 24 C 25 B

26 C 27 A 28 A 29 B 30 A

31 A 32 D 33 C 34 A 35 A

36 B 37 B 38 A 39 C 40 C

41 D 42 D 43 A 44 C 45 C

46 B 47 D 48 D 49 A 50 D

51 B 52 C 53 D 54 D 55 B

56 B 57 B 58 D 59 C 60 B

61 A 62 C 63 B 64 B 65 B

66 B 67 B 68 C 69 A 70 B

71 D 72 A 73 A 74 D 75 A

76 D 77 A 78 C 79 C 80 C

81 A 82 C 83 C 84 D 85 A

86 C 87 C 88 C 89 C 90 D

91 C 92 D 93 A 94 B 95 B

96 C 97 A 98 D 99 D 100 B

Answer Key
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Solution
1. (d)

V mV sin( t 15 ) Volts   

If currents leads 10º

I mI sin( t 15 10º )   

mI sin( t 5º )  

2. (c)

I
avg max

2
I


3. (d)

e
d

N
dt


 

It is emil Len's law.

4. (b)

K
1 2

M

L L


M 1 2K L L 0.85 3 12  

M 5.1H

5. (c)

Resistance temperature coefficient of copper at

20°C is 0.00393/°C.

6. (b)

The load characteristic of DC shunt generator is

determined by the voltage drop due to armature

reaction, voltage drop due to decreased field current

and voltage drop in armature resistance.

7. (a)

l hp  765 watt

In watt-seconds

765 2 5 3600   
72.6856 10 

8. (b)

N
120f

P


1200
120 f

4




f
1200 4

120




T
I 1

f 40
 

0.025 sec

9. (d)

The single phase induction motor (IM) which does

not have centrifugal switch is permanent capacitor

run single phase IM.

10. (c)

When a multiplier is added to a an existing voltmeter

for extending its range its electromagnetic damping

decreases.

11. (c)

V

IP




IC

P cV cos .I cos  

P CVI cos cos  

P cos cos  

12. (b)

Two parallel conductors carrying currents in opposite

directions will exert a repulsive force on each other.

13. (c)

Unit of reluctance of Magnetic circuit

AT

weber


14. (c)

In indicating instruments the springs are mainly used

to control the pointer movement.

15. (b)

Power in one resistor removed star removed from

star connected load.
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P
1

2
1V

2R


VL

A

B

C

R

R

Power will be in all resistors

P
2

2 2
L LV V1

3
R R3

 
   
 

So, one of the resistors is disconnected, then the

percentage reduction in load will be 50%

16. (b)

Induced Emf
.N

t




6100 10 100
2.0V

1/ 20

 
 

17. (b)

10

t
0 4 ms

10 ms

PMMC reads Average values

10
2.5V

4
 

PMMC rectifier

2.75V

M.I. reads
10

5V
2

 

19. (d)

A

Rm Rs

Rsh Rx

m

s

R

R
sh

x

R

R


20. (a)

For sinusoidal voltage PMMC reads zero.

21. (b)

To maximize the driving torque in an induction type

instrument, flux produced by shunt coil and series

coil should be in quadrature with each other.

22. (a)

To minimize the errors due to lead and contact

resistance, low resistances used in electrical

measurement work are provided with guard rings.

23. (a)

Switching of a lamp in house produces noise in radion

because switching operation produced are acrosss

separating contacts.

24. (c)

The small pockets of air in the high voltage cable

provide Low relative permittivity high electric

fieldand at these sites breakdown is likely to be

initiated.

25. (b)

C
N AB2C 2 3 F 6 F     

26. (c)

Dielectric stress 
1

Diameter


Maximum dielectric stress D

Minimum dielectric stress d

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27. (a)

Compared to the breaking capacity of a circuit

breaker, its making capacity should be more.

28. (a)

For blocking the DC component of a voltage signal

a capacitor is connected in series with the voltage

source.

29. (b)

For n-type semiconductor, the doping material is

pentavalent.

31. (a)

Silicon content in Iron lamination is kept within 5%

as it makes the material brittle.

32. (d)

Here multiplier factor m.f. = 4

Actual power m.f meter reading 

4 2000 8000W  

33. (c)

Resistance switching is normally employed in air blast

circuit breakers.

34. (a)

The angular frequency of an alternating voltage ,

then the angular frequency of instantanous real

power absorbed in an ac circuit is 2.

36. (b)

I
L 12A

W
1

11 kW

W
2 0

tan 1 2

1 2

3(W W )

(W W )






 60 

Power factor
1

cos60 0.5
2

   

37. (b)

In case of frosted GLS lamps, frosting is done by

ammonia

38. (a)

If the supply polarity to be armature terminals of a

separately excited dc motor is reversed, the motor

will run under plugging condition.

39. (c)

For welding, secondary transformer should be

capable of carrying low voltage and high current.

40. (c)

Capacity factor = Load factor × Utilisation factor

41. (d)

In a motor starter, the electromechanical contractor

provides inherent protection aganist under voltage.

42. (d)

t

t

V

10

–12

1 2

3

4 5

10

–11

1 3 5

dv
dt

22

20

–22

1 3 5
t
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43. (a)

In a semiconductor, the resistivity depends on

temperature.

44. (c)

Frequency of instantaneous power

2f 2 50  

100 c / s

45. (c)

Unit electric-charge = Ampere-Second.

46. (b)

C1

C2

P.F. 1 2c cp.f p.f

2




0.01 0.02
0.015

2


 

47. (d)

4
50K

124
50K X

 
   

 X 1500 k 1.5 M   

48. (d)

The purpose of providing a choke in the tube-light is

to limit current to appropriate value.

49. (a)

If the neutral wire breaks, 100W bulb will fuse.

50. (d)

V

250 mH 10

let at time t, magnetic energy reaches to
1

4
 of its

maximum.

Energy, E 21
Li

2


E 2i

i.e. current that time should be
max

2

1

2
tR /Le

1
ln

2
tR

L


tR

L
ln 2

t
L

ln 2
R


3

e

250 10 1
ln 2 log 2

10 40


 

51. (b)

V
rms

mV 100

2 2
 

50V

52. (c)

The given circuit represent schmitt trigger.

53. (d)

Input resistance of a FET is of the order of 100

M.

54. (d)

R

L

Vs

V
R 3V

V
L 4V

V
S

2 2 2 2
R LV V 3 4   

V
S 5V

55. (b)

For insulation Resistance
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R
1


l

1

2

R

R
2

1


l

l

10

R
8

2


R
10 2

2.5 M
8


  

56. (b)

Frequency of magnetic field energy is twice of

supply frequency.


T

2
2 [10m] 

 T 340 10 
f 25 Hz

57. (b)

2000, 2W

2000, 2W

R
eq 1 2R | | R

2000 2000
1000

2000 2000


  



R
eq

1000 

P 1 2P P 2 2 4 W    

58. (d)

1.
1 2 3

2.

2

3

3.

2

3

1

4.

1

3

2

5.

1

2

3

6.

1

32

7.

2

31

8.

3

21

59. (c)

1 B.O.T
unit

1 k Whr

B.O.T
unit Board of trade unit

60. (b)

P 2V

R


1

2

P

P

2
1
2
2

V

V

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1000

P

2
250

200
   
 

P
1000

16 640W
25

  

61. (a)

3 F 3 F 3 F

6F

a b

1 F

6 F

a b

C
ab (1 e) F 7 F    

63. (b)

3V 14V 10V

R L C

V
S

2 2
R L CV (V V )  

2 23 (14 10) 5V   

64. (b)

In 1-phase series RL circuit fed by voltage source.

The resistance and reactance values are 4 ohm

z 4 j4 

tan   1

  45°

Current lags the voltage by 45°.

65. (b)

For superposition theorem

Number of circuits  Number of sources

66. (b)

In squirrel-cage Induction motor, the rotor conductors

are short circuited via end rings.

67. (b)

3-phase synchronous motor is started by utilizing the

torque developed in the damper winding on the rotor.

68. (c)

If the frequency of input voltage of a transformer is

increased keeping the magnitude of the voltage

unchanged, then hysteresis loss will increase but eddy

current loss will remain unchanged.

69. (a)

I
1

1

P 2 10000
2.5A

Vcos 1000 0.8


  

 

I
1

2

P 1000
2A

Vcos 1000 0.5
  

 

I 1 2I I 2.5 2   

I 4.5A

70. (b)

Resistance referred to high voltage side,

R
o2

2
1 2R k R 

20.1 (5) 0.004  

0.1 0.1 0.2   

Resistance referred to low voltage side,

R
o1

1
22

R
R

k
 

0.1
0.004 0.008

25
   
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71. (d)

Tank circuit

L

C

72. (a)

The instantaneous power of a 1-phase series circuit

supplying R-L load from a sinusoidal voltage source

has in each cycle negative twice, and zero four times.

R

L

Vs

73. (a)

In a series R-L-C circuit

Q
1 L

R C


74. (d)

V (200 j40)V 

I (30 j10)A 

S *VI

(200 j40) (30 j10)   

(6000 400) ( j1200 2000)   

5600 j3200 

P 5600W

Q 3200VAr

75. (a)

Isc
z Norton Model

76. (d)

10

ve

V

100 V

88 V

0 0.5A
i

e V 10i 

r
e v

10
i i
  

dr
dv 12

10 10
di 0.5
   

24 10 14   

77. (a)

ZS

ZL12 30°

ZS = 30 + j40

For maximum power transfer

Z
L

*
sZ 30 j40  

L| Z | 50

Z
L

50   at power factor of 0.6 leading.

78. (c)

Speed torque characteristic

Speed

Torque
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79. (c)

DC motor Speed-torque characteristic

DC generator Open circuit characteristic

Alternator  V-curve

Induction Motor Circle diagram

80. (c)

Three equal impedances are first connected in delta

across a 3-phase balanced supply. It the same

impendence are connected in star across the same

supply, then power consumed will be 1/3 of the

previous value.

81. (a)

V 110 175sin(314t 25 )   

V
avg 110 0 110V  

82. (c)

1

1.5L

30 HIA

IS

I A BI I 

A

B

I

I
1.5 j L

1 j 30

 

 

A

B

I

I 2

(1.5 j L)(1 30 )

1 ( 30)

   


 

2

2

1.5 j L j 45 L30

1 ( 30)

      


 

For indepdent of supply frequency

L 45   0

L 45 H 

83. (c)

Universal motor is one which can operate on ac as

well as dc voltage.

84. (d)

If the centrifugal switch of a single-phase resistance

split induction motor does not open after starting of

motor, the motor will draw high current and get over-

heated.

85. (a)

Alternators are usually designed to generate with

fixed frequency.

86. (c)

a

b c
L

L L

L
ab

3L 60
10 20 mH

3 3
   

87. (c)

T

2
32 [5 10 ]  

T 22 10 sec 

 f 2

1
50 Hz

2 10
 


88. (c)

V
OC 150V

R
eq

75 

I
SC

OC

eq

V
2A

R
 

R
eq 75 

89. (c)

90. (d)

The commutator is a DC Machine acts as a

mechanical inverter of rectifier.

91. (c)

The purpose of using dummy coil in DC Machines

is to bring Mechanical balance of the armature.

92. (d)

An inductor with a ferromagnetic core is supplied

from a sinusoidal voltage source with frequency f.

The current drawn by the inductor will be nonsinosidal

with frequency f.
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93. (a)

Number of brushes for 6 pole DC Machine with

wave wound is 2.

94. (b)

Function of interpoles in a DC Machine is to improve

commutation.

95. (b)

The Commutator segments of DC Machine are

made of hard-drawn copper.

96. (c)

Pole-changing method is a speed control method of

three-phase squirrel cage induction motor

98. (d)

L1 L2

L
eq 1 2L L 2M 16 mH    …(i)

L1 L2

L
eq 1 2L L 2M 8 mH    …(ii)

By solving (i) and (ii)

M 2 mH

99. (d)

Unit of magnetic flux density is Tesla.

100. (b)

Coefficient of Coupling K

So, valid K  0.9


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